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1. U0ET YT EM @ qU o1E, 3T 3H UHEIUT YRRt st ugdrer 3ravd &Y of TR gud g feer
BUT, HET AT FeT FAT U3 I U9 3T 7 &N afg T@w &7 O 30wt udiequr gfaent § s@er
wifen

2. STR-UAE H WET TN W URieT0T YRRt 3T A, B, C A1 D agiiefd T U ¥ Heeg st

3. 79 ufed % @1 H &3 U wisSw W IR ST9 A feae 21 wdiern g R iR % 7 fag

4. 3@ we gfeset § 100 wEA (WeA) 3 T R
e eSS SfiNt H wur B1 YW qwAw
H 9 9w (SW) @ T T Tk weR
1 T o, fo 31T ST-Teeh W 3Afehd e wed B A Skl UE ofl foh Uk 9 eifeeh Yogei wEl
g @ SH IR HI AfRd HE S AR TAAE N TAF WA % A b Th & IR T T

5. oMUkl IO W YRR e W ¥ MU SW-wh W E sffrd # B sw-we § A u ey
3@ ol

6. Tt el % 3w wHE 2

7. TE9 Yoo foh o9 wiew gier & fafe= ueen & T SW-TFe W SifRd T IE HY, SR
WAl THO-TS % WY U SRSl % SUR oo Sw-we | < 2

8. MY 3T W+l YU I STE-TAF § WA & a1 a1 Tl & A9 W had Sa-TaF e i
i | STkl ST W1 THe0 YRRl of STH T AR 2l

9. = ®M & ¥ & TF e YRewt & Fd § Hord €

10. TTed 3T & Tod g
TS Y H SEiEaR g fed U ew s & fo g3 famr wmom

(i) Yo% 99 % ford W) dehfodss S €1 SHHIKaR g Yois W9 & ford 8 70w e S ferd
e 2q @ f6a U iRl 1 ueh-faetg <5 % ®9 # @ s

(i) IfE g Iefiear T ¥ Afye I 2 2, A 30 TeAd S 9 ST, =R 5 T S ¥ ° U SW
e B, 39 Y9 & o SwdFaEr & < fean s

(iii) % SHACER g *IE Yo & &l fohan S @ sreiq SEiCaR gR1 Sw ARl G s ®, df 59 wed &
fot =g g =& feen smom

T d ATIhT TE UIEIUT YRAFT T &l T gl TT ad d T @iet




. AR fafyre Teem Wit & 934 o, fr=fataa

oAl R fa=r Fifed:

1. SH&T TAYAT SR AITIT, 2016 & q&d Hi
T 2

2. I8 fagm 3l dreifies) w3mem & sfara o 2

STfE wed § ¥ B /A wE 2?2

(a) ®adA 1 (b) Had 2

(c) 1 @2 g (d T 1 AT 2

. IR Gfgum o souders IR 9 S waHmE

% e o, frefafed ol w fomr wife:

1. 9Rd & Gfaum ¥ ‘ereudes:’ v H FHEl
Seo@ e Bl

2. WU &1 S8R 29 SAeHEs fedl & W
Y Hefud 2l

3. Gfaum & ATee] 350 H WINE STUHEIR &
fau ww formw stfuei &t Ff o1 wEum

T 2

STH FUA ¥ ¥ FF WA 9@ A6 2R ?

(a) el 1 3R 2 (b) W 2

(c) ®oe 1 3R 3 (d 1,2 3R 3
. Frafafaa 7 9 fFe sorvess 9 R & ®9 °
s feman T 7

1. fa@ 2. Hiem

3. i 4, SH

5. R 6. dig

= fed T 2 w1 FE F HE IW g

(a) ®ae 1,2,3 3R 6

(b) wact 3,4,5 3R 6

(c) ®ae 1,2,3,4 35

(d 1,2,3,4,5 3N 6

. fr=afafed wol ® four Fifea:

1. TS STeudEsh A AfufEm, 1992 &t um
2(C) & T&d Afugfad T &l & sTeuHeTs
% ®9 § G S 2

2. 2014 ¥ dfg HUSE I oG GHIE B
w9 § srfugfaa fean m oem

ST weA § @ sE-|A w9l 22?2
(a) ®ad | (b) Fa 2
(c) 1 3R 2 g (d T 1 AT 2

. 2011 &t SO & TER frefafaa # 9 feg
T H ey steuEers € Y8R

1. @&y 2. Ty

3. & 4, 95E

= fed MU He w1 FE W TG W g
(a) et 1,2 34 (b) Haed 1,3 3R 4
(c) Hae 1 3 2 (d 1,2,3 3N 4

. With reference to the Unique Identification Authority

of India, consider the following statements:
1. It has been established under the Aadhaar Act,
2016.
2. It comes under the Ministry of Science and
Technology.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

. With reference to the provisions relating to minority

communities in the Indian Constitution, consider the
following statements:
1. The word 'minority' is nowhere mentioned in the
Constitution of India.
2. Article 29 of the Constitution deals with the
protection of minority interests.
3. Article 350 of the Constitution provides for the
appointment of a special officer for linguistic
minorities.

Which of the above statement(s) is/are not correct?
(a) 1and?2only (b) 2 only
(c) 1and3only (d) 1,2and 3

. Which of the following has been notified as a minority

community?

1. Sikh 2. Muslim
3. Christian 4. Jain

5. Parsiya 6. Buddhist

Select the correct answer using the code given below:
(a) 1,2,3and 6 only

(b) 3,4,5and6only

(¢) 1,2,3,4and 5 only

(d 1,2,3,4,5and 6

. Consider the following statements:

1. The community notified under section 2(c) of the
National Commission for Minorities Act, 1992
is considered as a minority.

2. The Buddhist community was notified as a
minority community in 2014.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

. According to the 2011 census, in which of the

following state(s) Hindus have become a minority?
2. Mizoram
4. Punjab

1. Lakshadweep
3. Kerala

Select the correct answer using the code given below:
(a) 1,2 and4 only (b) 1,3 and 4 only
(¢) 1and2only (d) 1,2,3and 4
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6. frfafad & 9 #H-91 9% seuHers 9EE 9

10.

Heiferd el €2

(a) TSHREU M ARd €8 1975

(b) TS Hicsl ST Yoa TF 1971

(c) el difeed oM 9Rd €9 2005

(d) STHT UE HISSYH T HAeh TF 2002

. Hfaum # RE-E SR SIgfad SHenfa !

Afergfad T ¥ Fafua 87
(a) SR 341 (b) TR 342
(c) =T 345 (d) STI=T 333

. U Srgfea St e % wed o, frfafad

ol R fa=r Fife:

1. TEH! TG 89d Hiawm wenu etfufm,
2003 % q&d HI T

2. € T wifarus FwE 2

3. Tgd SN w1 TS °E 2005 H fomaAr e em

ST HeA § ¥ HE-T/A T 22
(a) Foe 1 3R 2 (b) Hee 2
(c) e 1 @ 1,2 @3

. frefafaa wemi W faar wifsd;

1. Teeufa fedt off T o wsenfgd WY &
oy H g5l & TAUA b WHI & 9K Th
Hrefsifeh AEAT 51 39 T A1 Hanad
TR & Heel W S A1 S S i
S gfea SHefa & ®9 § e w g 2

2. Gfaum & T8 366(25) % ATIR “ sTyfaa
SN | ST U SHSadl a1 St SHEat
% R FB I A el ¥ T 9= dfaum &
IR 341 & ded sifugfea faman n 217

St weAl § @ sE-|A w9l 222
(a) w1 (b) Heet 2
(c) 1 3 2 g (d) Td 1 SRTE 2

frfafed waml W foer Fifs3:

1. 9Ra ® TR ifetsh! o9 T IEsTd 99 1687
T gg TR etk & TS & WY el

2. @€ e 7 T @REs &1 g @il

3. 1935 & eIfufem & ded T @emEA &
i o= =ifya fan mm

ST Al § ¥ HE-T/8 W R 2

(a) e 1 3R 3

(b) HaA 3

(c) wael 1 3R 2

(d) 9= # ¥ e =

6. Which of the following issues does not relate to

10.

minority community?

(a) Rajnarayan Vs Union of India 1975

(b) DAV College Vs State of Punjab 1971

(c) Bal Patil Vs Union of India 2005

(d) TMA Pai Foundation Vs State of Karnataka 2002

. Which Article of the Constitution deals with notifying

Scheduled Tribes?
(a) Article 341
(c) Article 345

(b) Article 342
(d) Article 333

. With reference to the National Commission for

Scheduled Tribes, consider the following statements:
1. It was established under the 89th Constitutional
Amendment Act, 2003.
It is a statutory body.
3. The first commission was constituted in March

2005.
Which of the above statement(s) is/are correct?
(a) 1and?2only (b) 2 only
(¢) 1only (d) 1,2and 3

Consider the following statements:

1. The President may, in relation to any State or
Union Territory, after consultation with the
Governor thereof, by a public notification,
designate tribes or tribal communities in relation
to that State or Union Territory as Scheduled
Tribes.

2. According to Article 366(25) of the Constitution,
"Scheduled Tribes means certain classes or
groups within such tribes or tribal communities
as are notified under Article 341 of the
Constitution."

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both1and2
Consider the following statements:

1. Municipal governance in India started with the
formation of Bombay Municipality in the year
1687.

2. Lord Lytton laid the foundation of local self-
government.

3. Under the Act of 1935, local self-government
was declared a provincial subject.

Which of the above statement(s) is/are correct?
(a) 1 and3 only

(b) 3 only

(¢) 1and?2only

(d) None of the above.
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11.

12.

13.

14.

15.

16.

et &9 # wed &9 uifm W & el ¥,
frefafea § @ SF-9/8 4 1 Q0w A
22

1. =Aaq SHEE 5000

2. HU W HH 75% N I-H0 e § G
3. ®H Y HH 1000 AR Ufd o fHH. &1 SHen

e |
= &3 T w2 w1 W@ W EE W g
(a) el 1 3R 3 (b) waa 3

(c) Fael 1 3R 2 (d 1,2 33

T & H HeAwer SR Yo Wik WS

T e T e el SEifsa feman wan?

(a) ¢ feoeft (b) ST weW

(c) HeNg (d) e

aRa H Herdd & 9ed o frefafed wedl

fo=m =wifs:

|. e U Wiess e 3 aeamil gl
& ot frone meaey foeme & ot ual
1 GOl F § HEg HI 2

2. I8 MRk gfshan wfegdr, 1908 g wifyd =&t
 difesh HeAwedl U gorg AU, 1996 g1
e 2

ST werl § ¥ wA-G/A TE 22
(a) a1 (b) Haa 2
(¢) 1 3R 2 g (T 1 ATE2

@ & H ‘e-DAR’ Ul frAfafed & @ feae
g fosfaa feran mn?

(a) FEH, UREET TE ToEF HACH

(b) +fa s

(¢) T& HATH

(d) TS = wd sifueRTRar warerd

IRd R 3fafe stefedaeen &1 agar 33 & u]yd
o, fFrefetead § ¥ SE-9/4 Se4 Sed T 2/e?
1. = ¥4 3fean fafree

2. WRAE U Sfdaiel HadH $iR Wit %y
3. SAfiTeRet 3R ThIE & WIEeT 1 LT

= f&F T w2 w1 W@ H O IW g
(a) Haa 1 3N 3 (b) waa 3
(c) el 1 3R 2 (@ 1,2 3R 3

RAMP &1 & Hed ¥ f=fafed somi ® foem

HifS:

1. @€ fova §% § "emal Ww Hd & Wi
RIECIS

2. R W SE HAerd W Set A 2

11.

12.

13.

14.

15.

16.

In the context of declaring an area as an urban area,
which of the following is/are the criteria that are
mandatory to be fulfilled?
1. Minimum population 5000
2. At least 75% of people engaged in non-
agricultural business.
3. Population density of at least 1000 persons per
square km.

Select the correct answer using the code given below:
(a) 1 and3 only (b) 3 only
(¢) 1 and?2 only (d) 1,2and3

Where was the National Judicial Conference on
Arbitration and Information Technology held
recently?

(a) New Delhi
(¢) Mabharashtra

(b) Uttar Pradesh

(d) Gujarat

With reference to arbitration in India, consider the
following statements:

1. Arbitration is a voluntary and binding process
in which an impartial arbitrator helps the parties
to a dispute reach a settlement.

2. Itis not governed by the Civil Procedure Code,
1908 but by the Arbitration and Conciliation
Act, 1996.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both1and2
Recently 'e-DAR ' portal has been developed by which
of the following?
(a) Ministry of Road, Transport & Highways
(b) NITI Aayog
(¢) Home Ministry
(d) Ministry of Social Justice and Empowerment
With reference to the promotion of space economy
by India, which of the following steps have been
taken/s?

1. New Space India Limited

2. Indian National Centre for Space Promotion and

Authorization
3. Establishment of Agnikula and Sky Route
Startup.
Select the correct answer using the code given below.
(a) 1 and3 only (b) 3 only
(¢) 1and?2only (d) 1,2and 3

With reference to the RAMP scheme, consider the
following statements:
1. TItis a World Bank-aided central sector scheme.
2. The scheme is attached to the Ministry of
Commerce and Industry.
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17.

18.

19.

20.

3. 9% e g, @, fowe wff @ faeled ®
ATET 2

4. 98 MSME &7 % Us¥iH ! sgH ¥ Hefd 21

= &3 T HE w1 W@ O IW R

(a) Foel 1,2 34 (b) Haad 1,3 3R 4

(c) el 1 3R 2 (d 1,2,3 3N 4

RAMP IS & 39 & §ed o, fr=fafea & @

HIA-T/A A 22?2

1. 9N 3R R0 qF TEF § GUR

2. %g TE T | fror faft= Heuml o wrE
I ASEA LA

3. HE-Ted Heel AR WP ®1 Sed wEl

4. MSME BRI 9aieRul 3TI%ha 3K TS Ufshanstt
o afud qg 1 gl

= fed T F2 w1 TET H TG IR g

(a) et 1,2 3R 4 (b) el 1 3R 2

(c) ®ael 1,3 3R 4 (d) 1,2,3 3R 4

SPACs (SPAC) # Hed #, ffafad wedl ™

foar =ifs:

1. I sffme ufsts SR (1PO) & wiesm
Y o9 2y IS JeM & ThAH Seed & fad
TR T TE T R

2. SHREE s SHwERT & 99F, SPACs &
T HISE G Geer A1 ey & o
fauifa @eg g =t

ST weAl § ¥ FR-A/A w8 22

(a) & 1 (b) =ad 2

(¢) 1 3 2 g (d) a1 SRTE 2

SPAC & Ted & Gsd H, ffafed weHl ™

fo=m wifsa:

T HI|

SifEm & wH H G&T gHvaa w

frewment & fau =9 sdw|

STHEHA YRYReh] i TET Y& HEA

I R SUART MR % ferd TdisR

T

= f&& T w2 w1 W@ W OEE W g

(a) Hae 1,2,3 SRS (b) Haed 3 3N 4

(c) el 1,2,4 3NS5 (d) 1,2,3,4 3R 5

frafa S geehis (EPI) & Ged o frefafad

oAl R fo=m Fifed:

1. T& gAfaal, SFoel i YgEH il € IR
g & fodr w glausms fams e= &
WeaTed e 2l

wohk Wb -

17.

18.

20.

3. The scheme is in line with the recommendations
of the UK Sinha Committee.

4. 1t is related to enhancing the performance of
MSME sector.

Select the correct answer using the code given below:
(a) 1,2and4 only (b) 1,3 and 4 only
(¢) 1and2only (d) 1,2,3and 4

With reference to the objectives of the RAMP scheme,
which of the following is/are included?

1. Improve access to markets and credit.

2. Strengthening various institutions and
governance located at the Centre and in the
States.

3. To improve Centre-State relations and
partnerships.

4. To address the issues related to environment

friendly products and processes by MSMEs.

Select the correct answer using the code given below:
(a) 1,2and4 only (b) 1 and?2 only

(¢) 1,3 and4 only (d) 1,2,3and 4

With reference to SPACs, consider the following
statements:

1. Ttis a corporation formed for the sole purpose
of raising capital for investment through Initial
Public Offering (IPO).

2. Atthe time of the initial public offering, SPACs
must have defined goals for existing business
operations or acquisitions.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(¢) Both 1 and?2
With reference to the importance of SPAC, consider
the following statements :
1. Cost efficient.
2. Ensuring safety by minimising risk.
3. Less attractive to investors.
4. Providing protection to dissenting shareholders.
5. Exposure opportunities for countries and

consumer bases.

Select the correct answer using the code given below:

(a) 1,2,3and 5 only (b) 3 and 4 only

(¢) 1,2,4and S5 only (d) 1,2,3,4and 5

With reference to Export Preparedness Index (EPI),

consider the following statements:

1. It identifies challenges, opportunities and

encourages a convenient regulatory framework
for exports.
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21.

22.

23.

24.

2. I8 IU-TRE TR W fEld w5 dgen 9 &
o Heerqul wE &= it 9e9H w ' Uh
SI-gerfad ¥ 2l

3. 9% 6w UK fava AR 9ed (Ssegela)
T Hifd S & wedm ¥ S fea ™ R

= fed T F2 w1 TET W TG IR g
(a) o 1 3R 3 (b) Haa 3 3R 2
(c) e 1 3R 2 (d 1,2 3R 3

fafa ol geekish- 2021 (Export Preparedness
Index- 2021) & Hed &, fFr=fafead weomi R fa=r
Hifrr:
1. "R oNMAR o o) T8 T W @l 2l
2. Y-S T H I YW 1 Had S8 T
W@ 2

ST weAl § ¥ wE-G/A TE B2
(a) e 1 (b) Fee 2
(c) 1 3R 2 g (d T 1 AT 2

A @ H ARG 7 400 3RE TIeR & a5 fafd &

&g ) G99 W Y8 9 o 21 3Hes feru Seierdt

HREHI T HE-T A B2

1. forerfa sreferercen gru ‘foramarel Hifses Fifa’
T ST

2. U @R gerfaa fafaent & forg fafa sy s
IE FHA

3. i Seel W gew #iR FT L A

4. frafa 1 vicdes % fau aeR 9§69 Ted A

5. &y fama ifql

= fed T F2 w1 TE H TG IR g

(a) ael 1,2 33 (b) ®ael 3,4 35

(c) ®ael 1,2,4 X5 (d) 1,2,3,4 35

frafa Jad geeki 2021 & wew & Ged #,

frefafad Fo W faar Fifa:

1. ffa sea Aifel s9m o W & gfeeaet
I T 3

2. frafa dadt wigeadi & wrifas faged =)
e LT

3. frafa & se@ 31 & foi fafams 2= &

A T
T we F ¥ I T

(a) el 3 3R 2 (b) waa 1 3R 3
(c) ol 1 @R 2 (d 1,2 3R 3

T & | Tk Hifd W TS T HT STEsA
el fa T 22
(a) T
(c) e

(b) & feeett
(d) ETRER

21.

22.

23.

24.

2. Itis a data-driven effort to identify key sectors
that are important for promoting exports at the
sub-national level.

3. [Itisreleased by the United Nations World Trade
Organisation (WTO) in collaboration with NITI
Aayog.

Select the correct answer using the code given below:
(b) 3 and 2 only
(d) 1,2and 3

(a) 1 and 3 only
(¢) 1and?2only

With reference to the Export Preparedness Index-
2021, consider the following statements:
1. Mabharashtra has been ranked first for the second
time in a row.
2. Uttar Pradesh has been the best performer among
the landlocked states.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both1 and2
Recently, India has achieved the target of exporting
goods of 400 billion dollars ahead of time. What are
the factors responsible for this?
1. Adoption of 'expansionary monetary policy' by
the developed economy.
2. Launch of Export Bandhu Scheme for new and
potential exporters.
3. Duty and tax exemption scheme on export
products.
4. Market Access Initiative Scheme for Promotion
of Exports.
5. Agricultural Export Policy.

Select the correct answer using the code given below:
(a) 1,2and 3 only (b) 3,4 and 5 only
(¢) 1,2,4and>5 only (d) 1,2,3,4and 5
With reference to the importance of Export
Preparedness Index 2021, consider the following
statements :
1. To promote the competitiveness of the states in
formulating export friendly policies.
2. Identifying strategic points in export
competitiveness.
3. Easing regulatory framework to promote
exports.

Which of the above statements are correct?
(a) 3 and?2only (b) 1 and 3 only
(¢) 1and?2 only (d) 1,2and3

Where has the National Conference on Cooperative
Policy been organised recently?

(a) Mumbai (b) New Delhi

(c) Bangalore (d) Ahmedabad
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25.

26.

27.

28.

TR wie®iH (Fincluvation Platform) & dg+

¥, fAfafed oAl | four St

1. =@ fean U yde s (IPPB) §N @i=d feha
T R

2. THTageR™, 9N o aTel WIEsTd & el FHeRi
foda ge™ 3uesy w9 8 IPPB &1 T
TR HE g

ST HeAl § ¥ wE-T/A e 22
(a) e 1 (b) Fe 2
(c) 1 3 2 3 () T 1 SRTE2

st S gAeRE Be (RBIH) & | o, frefafes

ol R fa=r Fife:

1. =91 3e¥9 T 31 et ovest & o fosita
Taetl 3R IRl d UEE Rl SeEl 3 W
Hfga wifeafart o= w1 fmior s

2. TH T SNEISE TR &% qgd fHan T 2

3. 3EH AN TH MIAFHOHE 2

Swda woAl § @ sE-ard 9 Tl 2e?

(a) el 1 3R 2 (b) o 2

(c) @ael 1 ¥R 3 (d 1,2 X 3

TR gl aTehted (Extra Neutral Alcohol - ENA)

% i o, frefafed wol | faur Fifse:

1. =€ = SEim w1 SR 2l

2. THH Achied &I HE @S 95 YAl &
B 2l

3. THH I Wied wHHA AR Sl @
® IR, S9- 39, TR W Mg & fmio &%
U b B9 H A S 2

STdE werl § ¥ HE-w/A wEl 22

(a) Had 3 (b) wa 1 3R 3

(c) wael 1 3R 2 (d 1,2 33

forerfefan g T foR i

1. Ho SR GAAC (FTA): & a1 & § aifern
291 AfEr IR 3, SR femd wem e
% ford wewd e 2

2. oA Afeen HEEN WHEr (CECA) : dare
3R frew qen enfefe wEEd @ o= e o
U T SI=id 1 SMiHe oo S 2

3. oA afifelen WiEHT WHEar (CEPA) : s
SR Yo SR Femea (2w T wren) =
TSI St fehar S )

T T F ¥ IR T 2

(a) o 2 3R 3 (b) w1

(c) ®ae 1 3R 3 (d 1,2 3R 3

25.

26.

217.

28.

With reference to the Fincluvation Platform, consider
the following statements:
1. Ithasbeen launched by India Post Payment Bank
(IPPB).
2. Fincluvation will be a permanent platform for
IPPB with participating startups to provide

inclusive financial solutions.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only

(¢) Both 1 and?2
With reference to Reserve Bank Innovation Hub
(RBIH), consider the following statements:

1. It aims to create an ecosystem focused on
promoting access to financial services and
products for low-income populations.

2. It has been constituted under the RBI Act.

3. Its chairman is S Gopalakrishnan.

Which of the above statement(s) is/are not correct?
(a) 1and?2only (b) 2 only
(¢) 1 and3 only (d) 1,2and3

With reference to Extra Neutral Alcohol (ENA),
consider the following statements:
1. Ttis a byproduct of the sugar industry.
2. Ithas an alcohol content of up to 95 percent.
3. [Itisused as an ingredient in the manufacture of
cosmetics and personal care products, such as

perfumes, hair sprays, etc.

Which of the above statement(s) is/are correct?
(b) 1and 3 only
(d) 1,2and 3

(a) 3 only
(¢) 1and?2only
Consider the following pairs:

1. Free Trade Agreements (FTAs) : Two or more
countries agree to provide preferential trade
terms, tariff concessions.

2. Comprehensive Economic Cooperation
Agreement (CECA) : Covers negotiations on
trade in services and investment and other areas
of economic partnership.

3. Comprehensive Economic Partnership
Agreement (CEPA) : Only trade tariffs and
TRQ (tariff rate quota) rates are negotiated.

Which of the above pair(s) is/are correct?
(a) 2 and 3 only (b) 1 only
(¢) 1and3 only (d) 1,2and 3
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29, ‘faegee’ (ST 1 WSt Tg-aia qehl iR

smfYfer WEanT Ugd) & dad H, frAfafad wem
R fo=r Fifea:

1. ueft feam 29 o WSS T

2. TEH Gigare weHis | feord 7

ITfE weA ¥ HE-E/A wE 22?
(a) ®ada 1 (b) =ad 2
(¢) 1 3R 2 g (d) Td 1 SRTE 2
30. ‘fome®’ & 4Wed #, ffafed g@l W fo=R
Hiferr:
(fommes & w=@ 39T) : (STRETEE)
1. 9Rd ¢ g
2. dNARIT : R faw @
foema
3. et . fom, drenfie,
AR
4. ﬂﬁé’é : G9h
5. M . Hepfd, T T 5
Hueh
Swde T W W wA-9 W ©?

31.

32.

33.

(a) Fael 1,2,3 3R 4 (b) Haa 3 3RS

(c) ®ael 1,2,4 X5 (d) 1,2,3,4 35
R frefafad 5 9 e o/se & @ 2+2
H B ?

1. smfE 2. foed
3. ®9 4. ST
5. sreferan 6. HId
= f&F T HE w1 W@ wHE W g

(a) Ha 1,2,3 3R 6 (b) Haet 2,4,5 3N 6

(c) ®ael 1,3,4 AR5 (d) 1,2,3,4,5 3R 6

FHictal G W= (CSC) & ued o, frAfafaa

ol R fa=r Fife:

1. THEH! T 9 2011 H g§ offl

2. 3O SeYd fex WRMEER &9 § &sa g
T I A R 2

3. WA, dici, Ao, HRT 3R TSR
THE T R

S HeAl § ¥ wE-T/A g 22
(a) et 2 3R 3 (b) waa 3
(c) el 1 3 2 (d 1,2 33

freafafed wuai ® foar Fifsa:

1. dfwe foe Tmiem & SR = SaouHe @
1 TIYAT T EEAER BT

2. <o st A T & =9 forer wwed |
TEell IR 9 fea=n e

29.

30.

(BIMSTEC Member Countries) :

31.

32.

33.

With reference to BIMSTEC (Bay of Bengal Initiative
for Multi-Sectoral Technical and Economic
Cooperation), consider the following statements:

1. All ASEAN countries are its members.

2. [Its secretariat is located in Kathmandu.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
With reference to BIMSTEC, consider the following
pairs:

(Responsibility)

1. India

2. Bangladesh

. Security
. Business Investment

and Development

3. Sri Lanka . Science,
Technology,
Innovation

4. Thailand : Contact

5. Bhutan . Culture, Tourism

and Public Relations
Which of the above pairs are correct?
(a) 1,2,3and 4 only (b) 3,and 5 only
(¢) 1,2,4andSonly (d) 1,2,3,4and5
With which of the following country/s does India
hold 2+2 talks?

1. America 2. Britain
3. Russia 4. Japan
5. Australia 6. France

Select the correct answer using the code given below:
(a) 1,2,3 and 6 only (b) 2,4,5 and 6 only
(¢) 1,3,4and>5 only (d) 1,2,3,4,5and 6
With reference to Colombo Security Conference
(CSC), consider the following statements:

1. It was established in the year 2011.

2. Itaims to strengthen regional maritime security

in the Indian Ocean region.
3. India, Sri Lanka, Maldives, Mauritius and

Madagascar are its members.

Which of the above statement(s) is/are correct?
(a) 2 and 3 only (b) 3 only
(c) (d) 1,2and3

Consider the following statements:

1 and 2 only

1. The establishment of the New Development
Bank was signed during the Sth BRICS Summit.

2. South Africa participated in the fourth summit
of BRICS for the first time.
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34.

35.

36.

37.

38.

IrfE wed § ¥ HE-TA wE 27

(a) ®ad 1 (b) e 2

(¢) 1 3R 2 g (d T 1 AT 2

ORdE sWER fames gifysm & 6’ A,

frfafea waai ® faar wifs:

1. THH! T WEE & Uh AEE gR 1997
¥ &l T of

2. T TH WHTW e 2

ST weA § ¥ HE-T/A W 22
(a) o 1 (b) Haa 2
(¢) 1 3R 2 g (T 1 ATE2

& It 9ReR ((DAC) & dsd H, fefafaa

oAl R famr Fifea:

1. SH®I TG 2005 | HI TE o

2. g Afemen Get favfa o arelt e w3
H1 wal=T e 2

3. DAC ! 37egerdl Jumsi g &1 St 2l

SufE weAl § @S-/ wE T 2?2

(a) Hae 1 3N 3 (b) e 3
(c) el 1 3R 2 (d 1,2 33
frafafaa ol w foamr wifsa:

1. R fomm grem § onfiifmfia gefasia
Te aifedq ISt ek (ARTPARK) @i
TG &1 TE 2

2. ARTPARK 1 Tmqel &fm gfgamn @ik
Jaifeam &1 g9E @1 ° ST wH & o
Tonfq feman e 2

ITfE weAl § ¥ HE-E/A wel 22
(a) ae 1 (b) Fad 2
(c) 1 3R 2 g (d T 1 AT 2

e S % ged |, freafafad el W faer

EAIEDE

1. HFe AW SEEe g i S wwE e g,
e ST 1 T 9gd il fewd T =afe
IR TR & dre foa= g R

2. T Sd i STIAReh Shie IHh SIsTagarst
fererer wfre (DNA) | ffed g &, it frem
% fefor @ 2

ST werl § ¥ SA-G/A TE B2
(a) & 1 (b) ®ad 2
(©) 1 3R 2 g (T 1 ATE2

3% ‘o s’ (Space Bricks) @1 2-

(a) Tafe & § weam & fad fosm <o g/ =+t
T Th TEl

(b) fora 3eT gRT iaRer LI HT T HH
o3 T wH

34.

35.

36.

37.

38.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both1and2
With reference to Telecom Regulatory Authority of
India, consider the following statements:
1. It was established in 1997 by an Act of
Parliament.

2. Itis a government organisation.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(¢) Both 1and2
With reference to Defence Acquisition Council
(DAC), consider the following statements:

1. It was established in 2005.

2. [Tt is the apex body of the Ministry of Defence

to take acquisition decisions.
3. The DAC is headed by the Prime Minister.

Which of the above statement(s) is/are not correct?
(b) 3 only
(d) 1,2and3

(a) 1 and3 only
(¢) 1and?2only

Consider the following statements:

1. Artificial Intelligence and Robotics Technology
Park (ARTPARK) has been set up at the Indian
Institute of Science.

2. ARTPARK has been established to effectively

use artificial intelligence and robotics.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only

(¢) Both1and2
With reference to the human genome, consider the
following statements:

1. The human genome is the same in most people,
but a very small portion of the DNA varies
between one individual and another.

2. Each organism's genetic code is contained in its
deoxyribose nucleic acids (DNA), which are the
building blocks of life.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only

(¢) Both 1 and?2

What is 'Space Bricks'?

(a) An initiative taken by BRICS countries for
cooperation in the space sector.

(b) An agreement by the BRICS countries to set up

space stations.
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39.

40.

41.

42.

43.

(c) 3O IR WRATF foam Heom g Seifen oin
I #1 e | 7 e it fgt @ fafda <
o 1 fafi

(d) HTA W& W AHagE favH 95 & fod A
%I T TEal

A fog R 2022 ffafeaa & 9 fFg 9meq

TN S T T 7?2

(a) AU T el G5 (IWEA)

(b) HIH T Haq fowr™ T Aeaw
(UNSDSN)

(c) fowa drgm fagm " (WMO)

(d) Sfyaesw 9o T ufoR (GWEC)

ORA HT T SHoll qIfad T5A i 3! IARH

IOl & ARl ®H § AR Sifed:

1. dfHerrg 2. TS0d

3. TN 4. TSTEA

= f&F T w2 w1 W@ wHE W g
(@) 1,2,4,3 (b) 2,4,3,1

© 2,4,1,3 (d) 4,1,3,2

AR & ged o, frafafeaa sweml W faar wif:

1. FZSIehT0l AEe 1 SIS TH H ®UE0T i
Tk iR B

2. Torrediontor o' wfwan € S AsgeE T W
i o et 3t 2

S HoAl § ¥ wE-T/d g 22
(a) a1 (b) Faa 2
(¢) 1 3R 2 g (d T 1 ATE2

TESSH HT Afehal & Feqrferd qROME § HE-GY
g wnftrer 22

1. HAfEE @R s § g

2. U W a1 HE|

3. 9fs ) H FE

= f@ T e w1 W wOEE W g
(a) Foel 1 3R 2 (b) Haa 3
(c) el 1 3R 3 (d 1,2 3R 3

aiftier wiead fuid-2022 & wed o, frfafaa

FeAl W =R wifs3:

1. 9% R 9gea T §aq foaew™ 9am Seash
T S T T R

2. 39 o # d9 wafawfs g & e
fra T T wed e o, eAfE sk

Al Seh el dgaTd|

STgF HoAl § ¥ wE-T/d g 22
(a) e 1 (b) Fe 2
(c) 1 @ 2 g (d) Td 1 SRTE 2

39.

40.

41.

42.

43.

(¢) Method of making bricks made from soil of Mars
with the help of bacteria and urea by ISRO and
Indian Institute of Science.

(d) Aninitiative of NASA to send a manned mission
to Mars.

Global Wind Report 2022 has been released by which

of the following organisations?

(a) International Wind Energy Association (IWEA)

(b) United Nations Sustainable Development
Solutions Network (UNSDSN)

(¢) World Meteorological Organisation (WMO)

(d) Global Wind Energy Council (GWEC)

Arrange the wind energy potential states of India in
descending order of their productive capacity :
1. Tamil Nadu
3. Mabharashtra

2. Gujarat
4. Rajasthan

Select the correct answer using the code given below:
(a 1,2,4,3 (b) 2,4,3,1
() 2,4,1,3 (d) 4,1,3,2
With reference to nitrogen, consider the following
statements:

1. Nitration is a process of conversion of nitrate

into nitrogen gas.
2. Denitrification is the process that converts

nitrogen gas into ammonia.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both1and2
Which of the following is/are included among the
possible consequences of nitrogen excess?

1. Eutrophication in rivers and lakes.

2. Colon cancer in human.

3. Decreased plant growth rate.

Select the correct answer using the code given below:
(a) 1and?2only (b) 3 only
(¢) 1 and3 only (d) 1,2and3

With reference to the Annual Frontiers Report-2022,
consider the following statements :

1. This report has been released by the United
Nations Sustainable Development Solutions
Network.

2. This report covers three environmental
issues - urban noise pollution, forest fires and
phenological change.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and2 (d) Neither 1 nor 2
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44,

45.

46.

47.

48.

frafafad 5 9 9Ra o wafv wguor fhe/foea st

o wfer 2722

1. st ggur (fafae @ik fison) fam, 2000

2. AfaRer (Heewn) frEm, 1986

3. I (YO Y ek SR FrEwn) sifufm,
1981

4. a9 Hegor sifufEm, 1980

I ¥ U T2 1 T@ X HE SW g

(a) ®ael 1,2 3R 3 (b) Haet 2 3R 4

(c) ®aa 1,3 34  (d) 1,2,3 3 4

frafafea Fai ) faar wifsa:

1. T AR 4% ofefam & s a2 W
feord 21

2. I8 9y URfefqsl o3 owel R Sial @
et & ®, f5 ®ia it % w9 d
ST S 2

3. YA SR Ve & e gesiel Hee g ¢l

ST FUA § ¥ HE-T/A T 22

(a) el 1 3R 2 (b) et 2

(c) ®ae 1 3R 3 (d) 1,2 33

frafafes & 9 f59 &3 ¥ 9 o weifas ya«

fufq ¢ st 22

(a) F=3 FH G

(b) FeuH-fTER g9 T

(c) R i @St

(d) @&g

T et = e o, fmafafeg weAl )

fo=m =wifsa:

1. I8 I &9 G g g )

2. 9Nd 7 39 oifvma &t At o gfie =
1 2l

3. THH Sl G SSRE % arel | STt
e =

ST HUA § ¥ HE-T/A T 22
(a) w1 (b) Heret 2
(c) ®o 1 3R 3 (d 1,2 3R 3
foreifefian gl T fomm i
( 1) (wse)
1. o stfaaaa : ST T SR

2. exew erfgea : TR e ggu

3. 99 gHeH : WA ST i
IR 3TESTE d
ErcalepEul

44,

45.

46.

47.

48.

Which of the following is/are included in the laws
relating to noise pollution in India?
1. Noise Pollution (Regulation and Control) Rules,
2000
. Environment (Protection) Rules, 1986
3. Air (Prevention and Control of Pollution) Act,
1981
4. Forest Conservation Act, 1980

Select the correct answer using the code given below:
(a) 1,2and 3 only (b) 2 and 4 only
(¢) 1,3 and4 only (d) 1,2,3and 4

Consider the following statements:
1. The Great Barrier Reef is located on the north-
east coast of Australia.
2. This rich ecosystem is made up of billions of
tiny organisms known as coral polyps.
3. There is a symbiotic relationship between coral
and algae.

Which of the above statement(s) is/are correct?
(a) 1and?2only (b) 2 only
(¢) 1and3 only (d 1,2and3

In which of the following regions is the largest coral
reef found in India?

(a) Gulf of Kutch

(b) Andaman and Nicobar Islands

(c) Bay of Mannar

(d) Lakshadweep

With reference to the Minamata Convention, consider
the following statements:

1. Itis alegally binding treaty.

2. India has not yet ratified this convention.

3. Its fourth conference was held in Bali, Indonesia.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) 1,2 and 3

(a) lonly
(¢) 1and3 only

Consider the following pairs:
(convention)
1. Vienna Convention

(relationship)
. Protection of the
Ozone Layer
Sustainable Organic
Pollutants

2. Rotterdam Convention :
3. Basel Convention . Cross-border
movement of
hazardous wastes
and their control
Related to
International
trade in hazardous

4. Stockholm Convention :

chemicals and
pesticides

5. Minamata Convention : Mercury Pollution
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49.

50.

51

52.

53.

Tl g ¥ e w2

(a) ®ad dF FH (b) Faa I FH
(c) Had IR I (d) @t r=i 3=
frafafed wai | faar wifsa:

1. fava =1 9gan a=reiy e fova 9% g0 S
e T R
2. Tl TR & I Tl 1 G qgH &

el a=rite dfvs S fman @ @)

3. = T T e e ¥ gwer
% IR R Gelag fwar T 2
SWH HeAl § ¥ HiA-4 el 82

(a) el 1 3R 2 (b) e 2 3R 3

(c) ®oe 1 3R 3 (d 1,2 3R 3

T4 Sl T g gashls & dad |, fefafaa

Fo R fa=R i

1. =8 fifq emEm 3 s fewen 21

2. U SEYF Sl R Werery & § T8I
HNTEd Y g TAE i o HTA 2l

3. 92 Tl § B 1 EYE Gad oresl B

4. B WA H e 3 W

St weAl § @ #E-9 9 72
(a) Foel 1 3R 2 (b) Hee 2 3R 3
(c) @ael | 3N 4 (d) ®aa 1,2 R 4

‘qfET’ BT B W == H W R, 9w R

(a) dqffEg ¥ weell IR 3@ T e faae

(b) T H HEele gt | fiell 55T w1 T geiid|

(¢) TR &I W€l | WIS T Th YhR i TS|

(d) 9ot fewera & @St T ga1 &1 TH U

FHeepfent & ged ¥, frefafad sweal § 9 siA-91

HH-9 e 2R?

. 9N Sieehicsh wrEwn famm SR genfiest
e’ & e § 7

2. 9RA Serhiceh G yomed | IniHel 2l

. ofR ferl’ sferefeant § WRd & ST g
#% 2l

= <8 U T2 w1 T@ X HE SW g

(a) Foel | 3R 2 (b) Heet 2

(c) e 2 3N 3 (d) ®aa 3

g Hiew o fowm & wed o, frefefad wemt

4 9 $A-G/HHE-9 T 2/

1. SEHT TA9 1875 ° g R

2. Ig famm SR Sreifient w1 U o 2l

3. 7% Hig9 Gadt erddie, JaA 3R 9T
fom % fod yg@ et 2

49.

50.

51.

52.

53.

How many pairs given above are correctly matched?
(a) Only three pairs
(c) Only four pairs

(b) Only two pairs
(d) All five pairs
Consider the following statements:
1. The world's first wildlife bond has been issued
by the World Bank.
2. Wildlife Bond has been issued to increase the
number of black rhinos of South Africa.
3. The black rhino is listed as endangered on the
TUCN Red List.

Which of the above statements are correct?
(a) 1and?2only (b) 2 and 3 only
(¢) 1and3 only (d) 1,2and 3

With reference to the State Energy and Climate Index,
consider the following statements:
1. It has been issued by NITI Aayog.
2. It aims to track efforts by states and union
territories in the energy and climate sector.
3. Kerala has the best performance among the big
states.
4. Goa tops the list of smaller states.

Which of the above statements are correct?
(a) 1and?2only (b) 2 and 3 only
(¢) 1and4 only (d) 1,2 and4 only

'Palmking' has been in the news recently, it is:

(a) Abutterfly seen for the first time in Tamil Nadu.

(b) A species of monkey found in the Silent Valley
of Kerala.

(c) Atype of fish discovered in the Gulf of Mannar.

(d) A species of tree discovered in the Eastern
Himalayas.

With reference to Antarctica, which of the following
statement(s) is/are correct?

1. The Indian Antarctic Programme is under
the control of the Ministry of Science and
Technology.

India is included in the Antarctic Treaty System.

3. 'Maitri' and 'Himadri' are India's research centres
in Antarctica.

Select the correct answer using the code given below:
(a) 1and?2only (b) 2 only
(¢) 2and 3 only (d) 3 only

With reference to the India Meteorological
Department, which of the following statement(s) is/
are correct?
1. It was established in 1875.
2. It is an agency of the Ministry of Science and
Technology.
3. It is the principal agency for meteorological
observation, forecasting and seismology.
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54.

55.

56.

57.

= fed T F2 w1 TE F FE IR g

(a) el 1 3R 2 (b) o 2

(c) el 1 3R 3 (d) waa 3

HARHATE GRS & 939 H, fAfafed we |

foam wifer:

1. 38 SeTE MeIRd fas i agEn 3 & o
& fran e R

2. SRTNE 1 SMYFRIHI, FHAfdeiael, ITME
e SAriierton SR aeia e 1 faem,
TS WY 2

ST weH § @ SE-|A w9l 22?2
(a) e 1 (b) Faa 2
(c) ol 1 3R 2 (d) Td 1 SRTE 2

ffafed 3@ | fo=r St
1. SRRI/RES SaerE! ;3

AT fern

2. &AM SArAE! : Ffieig
3. Wl saameEr o fauR g

Irdad g § 9 fhad g ot gufaa w6 22
(a) I TF W (b) |eft = 7w
(c) ®aa q W (d) 1 ot I T

‘99 9qRd HERal SEwd’ & "ol ¥, fmfafaa

FAl § § SH-T/HA-9 TE 887

1. I8 ®ey fag o 2022-2027 &1 @ty &
o g& fopan T )

2. I% T foen Hifa 2020 & Wy WfEd FH 79
e fien & gt veqe i wiHd i 2

3. 39 FMHH H LT TISH STERI Hl hdd
YAYd WERA SR S kT ferem gem

HET R
4, M TS uE wgd ford fefsea wieml
= f&d T HE w1 W@ w O IW g
(a) el 1 3R 3 (b) W 2 3R 3
(c) Hael 1 3 4 (d) Faa 1,2 3 4
gH T2 U@ &Y (UNFPA) & day o

frfafed wul w fa=m wifsa:

1. € WgF U WEEHl hl Uh WEHEH I §
S A SR TS e TS % w9 § e
LT B

2. UNFPA ¥ @@ § Tl SN (A SAT-THR
) & Tifessh GrEH gRI gafdd €, 7 &%
IR T T G

3. UNFPA J&& &1 ¥ Haq fasm@ & &g o,
IR AR i & Hau | HE H 2

ST weAl § @ SE-|A w9l 22?2
(a) whaa 1 (b) W 1 3R 2
(c) o 2 3R 3 (d 1,2 33

Select the correct answer using the code given below.
(a) 1and?2only (b) 2 only
(¢) 1 and3 only (d) 3 only

54. With reference to the Sagarmala project, consider the
following statements:
1. It has been launched to promote port based
development.
2. Port modernisation, connectivity, port based
industrialization and development of the coastal
community are its pillars.

Which of the above statement(s) is/are correct?
(b) 2 only

(d) Neither 1 nor 2
55. Consider the following pairs:

(a) 1 only
(c) Both1and?2

1. Whakaari/White . Australia
Volcano

2. Ruapehu Volcano : New Zealand

3. Stromboli Volcano . Lipari Island

How many pairs given above are not correctly
matched?
(a) Only one pair (b) All three pairs
(¢) Only two pairs (d) None of the pairs
56. Which of the following statement(s) is/are correct
with reference to the 'New India Literacy Programme'?
1. This programme has been started for the period
of financial year 2022-2027.
2. It covers all aspects of adult education to align
with the National Education Policy, 2020.
3. The objective of this programme is to provide
only basic literacy and arithmetic education to
the adult population.

4. Digital module for easy and wide access.

Select the correct answer using the code given below:
(a) 1 and 3 only (b) 2 and 3 only
(¢) 1 and4 only (d) 1,2 and 4 only

57. With reference to the United Nations Population Fund
(UNFPA), consider the following statements:

1. It is a subsidiary organ of the United Nations
General Assembly that serves as the Agency for
Sexual and Reproductive Health.

2. UNFPA is supported entirely by voluntary
contributions from donor governments (or
intergovernmental organisations), and not by
the United Nations budget.

3. UNFPA works directly in relation to Sustainable
Development Goals 3, 4 and 5.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 1 and?2 only
(¢) 2and3 only (d) 1,2 and 3
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IRd | Tt ® 9 % e o, frefafea § @

T wfafeai =1 7ea foan T en?

1. 9% % o7 gfafa

2. AherETl |iHfd

3. g dgaet grafa

4. Rfa gfean Tk Wi

I ¥ U 2 @ TR IW H FI HiE:

(a) ®ael 1,2 3R 3 (b) Haet 2 3R 4

(c) ®at 1,3 8R4  (d) 1,2,3 3 4

frafafas su w fa=ar wifsa:

1. T Afgen AW &1 T 1992 H Hi
T eff|

2. TE UH GawuiTe e B

3. UE ffgen @M 3 fieett T fafus dan
WITURTOT & WeAr § A TRl el
1 A HT T

ST weAl ¥ ¥ HE-T/A T 22
(a) @oe 1 3R 3 (b) wad 1
(c) Hae 3 (d 1,2 3R 3

YR el & §ed o, Fafafed wel W fo=ar

s

1. 9% el STR-Ufg=m wifewe iy qof
s | foewfad g8 e

2. 39 el o arkdfash e HiYEE S
IMEF

3. 3@ W A FHell H1 99 B

ST FUA ¥ ¥ FE-A/8 T8 222

(a) @oe 1 3R 3 (b) wee 1 3R 2

(c) Haa 3 (d 1,2 33

forforfam T § ¥ FR-wA T g 22
( qAATeR Tre ) (=)

1. @HR e : RN

2. fafas wifaa o SEeS
3. YA WIGA g€ Uk : STy URY
= f&& T w2 H W@ F g FE SW g

(a) o 1 (b) Hee 2 3R 3
(c) ®oe 1 3R 3 (d 1,2 33
frrffaa i W FER R

(URUfieh =NER) ()
1. gy : AfHerrg
2. € STE : e
3. fag HESIC]
THEF T H W R W w2
(a) ®9A TH JH (b) HaA I T
(c) @t 7w (d) =g+ g T
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In the context of measuring poverty in India, which
of the following committees was constituted?

1. Y K Alagh Committee

2. Lakdawala Committee

3. Suresh Tendulkar Committee

4. Arvind Panagariya Task Force

Select the correct answer from the code given below:
(a) 1,2and 3 only (b) 2 and 4 only
(¢) 1,3 and4 only (d) 1,2,3and 4
Consider the following statements:
1. The National Commission for Women was
established in 1992.
It is a constitutional body.
3. National Commission for Women has started
Legal Aid Clinic in collaboration with Delhi
State Legal Services Authority.

Which of the above statement(s) is/are correct?
(b) 1 only
(d) 1,2 and 3

(a) 1and3 only
(¢) 3only
With reference to Gandhara art, consider the
following statements:
1. This art was developed in North West Pakistan
and East Afghanistan.
2. The real patrons of this art were the Scythian
and Kushan rulers.
3. [Itis influenced by Greek art.

Which of the above statement(s) is/are correct?
(b) 1and 2 only
(d) 1,2and 3

(a) 1 and3 only
(¢) 3only
Which of the following pair(s) is/are correctly
matched?

(Geological Site) (State)
Lonar Lake : Maharashtra

. Shivalik Fossil Park  : Uttarakhand

3. National Fossil Wood : Andhra Pradesh
Park

Select the correct answer using the code given below:
(b) 2 and 3 only
(d) 1,2and3

(a) 1 only
(¢) 1 and3 only

Consider the following pairs:

(Traditional Festival)  (State)
1. Puthandu : Tamil Nadu
2. Naba Barsa : Nagaland
3. Vishu : Punjab

How many pairs given above are correctly matched?
(a) Only one pair
(c) All three pairs

(b) Only two pairs
(d) None of the pairs
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w1 fagie & Hau o, frefafad § 9 sH-91 weH

T T 72

(a) a9 1882 & WEW a4 Ifufad & Se@ H
forfeer foeft wfafafermt o

(b) T =M fage & W ¥ ot S S @)

(c) 399 Iyt fage 1 s feam

(d) sTeell Hawm TS fosE & wgE TWmet § |
T 9|

AT YA TeARs W & gsd H, fefafaa

wAl § 9 SH-T/A wE 28?

1. 9 forfien 9@ & = Sfged § wihe gul

2. 3= fomdl & faom ¥ 9RR a1 A
Eal

3. Tl HOE % SNE IR HeRHdl S e
S o @ T

= f&F TC w2 H W@ F g FE SW g

(a) waa 1 (b) waa | 3R 2

(c) o 2 3R 3 (d 1,2 3R 3

freferfaa o @ fre faa 7% =1 g Tue SRS

% SIRY & qod foall H AR e m em?

(a) T& &I (b) & TT TEIR

(c) 7% s oz (d) & 3T T

o e omt w wed o, fefatad § 9§ wE-w

HU e TEl 22

(a) 1904 W 3% HE-T-feg Tiee Hed ¥ oI
o T e

(b) TTH M W I TE & el T AHHI Tk
TR

(c) TR SNYFTeh el & Sk & ®Y H S W &)

(d) 1873 ® QS aEEw & ford wxw yee
1 TR @01 &EH Sl ol

TE A TH F G § RGO el TE 82

(a) IE HERN WA ¥

(b) TR STH TS H g3l

(c) ‘womE’, aTeeam’, ‘YW wfer Hedt $he 1)
EgEalcane i

(d) ST 7 ¥ *E T

WA A BT TIRAHT A (INIP) & |

¥, frafafed wal | faur Fifs:

1. THHT PEAM a8 2014 | & TR o

2. W 3IUHN TS yunfor & e faewr &
3T <1

RIIC o1  B c fe e

4. T T fafmion 1 wSega S
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With regard to the Rampa Rebellion, which one of

the following statements is not correct?

(a) There were anti-British activities in response to
the Madras Forest Act of 1882.

(b) TItis also known as the Manyam rebellion.

(c) This gave rise to a nationwide rebellion.

(d) Alluri Sitarama Raju was one of the prominent
leaders of the rebellion.

With reference to the freedom fighter Prahladji Patel,
which of the following statement(s) is/are correct?
1. He joined the Bhoodan movement of Vinoba
Bhave.
2. He helped Sardar Patel in the merger of princely
states.
3. He was kept in Sabarmati and Yerwada Jail
during the freedom struggle.

Select the correct answer using the code given below:
(b) 1and?2 only
(d) 1,2and3

(a) 1 only

(¢) 2and3only
Which of the following Sikh Guru was executed in
Delhi under the orders of the Mughal Emperor
Aurangzeb?

(a) Guru Har Rai (b) Guru Tegh Bahadur
(¢) Guru Gobind Singh (d) Guru Arjan Dev

With reference to Raja Ravi Varma, which of the

following statements is not correct?

(a) In 1904, he was awarded the Kaiser-e-Hind Gold
Medal.

(b) The crater of the planet Mercury is named after
him.

(c) He is known as the father of modern art.

(d) In 1873, the Governor of Madras Presidency
won the Gold Medal for Draupadi Vastraharan.

Which statement is not correct regarding Guru Nabha

Das?

(a) He was from the Mahasha community.

(b) He was born in Punjab.

(c) His works are 'Bhaktamal’, 'Ashtayam’, 'Sphut
pada related to Ram devotion'.

(d) None of the above.

With reference to the Indigenization Plan of the Indian
Navy (INIP), consider the following statements:
1. It was started in the year 2014.
2. Promote local development of military
equipment and systems.
3. Reducing the cost of imports.
4. Strengthening local defence manufacturing.
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70.

71.

72.

THw ¥ IS T

(a) Fael 1,2 33 (b) Hael 2 AR 4

(c) Fael 1,3 34 (d) 1,2,3 3N 4

Te WA % Sfaiid, Frefafed § 9 siA-arA
G Tl 3Tl /3 €2

1
2.
3. U e me
4
5

6. \Ra-fasaa dmn gfew

F= &3 T H2 F TET FW g FE SR g
(a) @ae 1,2,3 3N 6

(b) ®a 3,4,5 3R 6

(c) Hae 1,2,3,4 3T 5

(d 1,2,3,4,5 3R 6

frfefea o o form Tool & TR @ 82

1. 3TEUTEA WRY 2. HEeE

3. SH-HYER 4. SWES

= f&& T w2 w1 W@ w g FE SW g
(a) @oe 1 3R 3 (b) e 2 3R 3

(c) @ael | 3N 4 (d) ®aa 1,2 3R 4

MRSAM & @34 ¥, frfafed weomi W fo=m

e

1. 7€ DRDO 3R <&Eiee THugH & Tegan 9
fersptad feranm o 21

2. 9% Gdg 9 'A W AR & dreit fHEEa
ot 21

3. T GR % fod U STen-Sfer HERIUl
forfaa fordl T 2

ST weA § @ sE-|A w9l 22?2
(a) Hae 1 3 2 (b) Hee 2
(c) o 2 3R 3 (d) ®aa 3

ATNTA SueTed Freferiad § 9 forad gafud 272

(a) Y& fehe Suaear gifyea & iR <ot
Td FHAESN HE a@l W STRT T &
o SRdT® g = T U S|

(b) WETH § FHITESR H T+ & ford =ermn
T TE AT

(c) Tl ¥ AR ST I gg™ & g fren warer
B Y& fohar T T S|

(d) 9RdrE T grn fafe=r <o & et & @
A A T TH
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Which of the above are correct?
(a) 1,2and3 only (b) 2 and 4 only
(¢) 1,3 and 4 only (d) 1,2,3and 4
Which of the following armed forces comes/are under
the Ministry of Home Affairs?
1. Assam Rifles
Central Industrial Security Force
National Security Guard
Border Security Force

Sashastra Seema Bal

A

Indo-Tibetan Border Police

Select the correct answer using the code given below:

(a) 1,2,3and 6 only

(b) 3,4,5and 6 only

(¢) 1,2,3,4and 5 only

(d 1,2,3,4,5and 6

In which of the following states AFSPA is applicable?
1. Arunachal Pradesh 2. Meghalaya
3. Jammu and Kashmir 4. Uttarakhand

Select the correct answer using the code given below.
(a) 1and3only (b) 2 and 3 only
(¢) 1and4 only (d) 1,2 and 4 only

With reference to MRSAM, consider the following
statements:
1. It has been developed in collaboration with
DRDO and Dassault Aviation.
2. [Itis a surface-to-air missile system.
Different versions have been developed for the

three services.

Which of the above statement(s) is/are correct?
(a) 1 and?2 only (b) 2 only
(¢) 2and 3 only (d) 3 only

Operation available is related to which of the

following?

(a) A campaign launched by RPF to ensure
availability of railway tickets and to check touts
and black marketers.

(b) A campaign launched to stop black marketing
in PDS.

(¢) A campaign launched by the Ministry of
Education to increase the enrollment rate in
schools.

(d) A campaign of military exercise by the Indian

Army with the armies of different countries.

| eteE | e e
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frafafaa woi | faar wifsa:

1. era fafaern &1 T i g 2

2. WHSE W fren iR Wiepfae fafafuai o1 s=
TOR ® 91 GHSE % HGHd T yened o
TS 98 W HERa

S HAl § ¥ wE-T/d w22
(a) ®ad | (b) Fa 2
(c) Hae 1 3 2 ( T 1 ATE2

frefafad Fo w faar S

1. & & WY 9Rd & fgusa daui w yeeTd
1950 =1 wiifa @R fsan @fa 9 g2

2. A9 39 UR W0 W W Uh © Wl WRd i
(RuPay) ST JoTefl HiSs 2

3. 9Rd 3R uret 3 fert-arord SN weHs-
S I e W aH & o faw-fad
grgial W e Y E)
ST HeA § ¥ SE-T/A T 22

(a) el 1 3R 2 (b) Had 1

(c) o 2 ¥R 3 (d) 1,2 33

= sl & Heo |, fefafead § 9 wE-9 s

T 27

(a) I 3T el TR # fEa Sidl &1 T&
T 2l

(b) IE ST WeNd WEErR H fiom 38 wa @
T 2

(c) I% TN STeclifcsh HEMTR ¥ fEord 32 5a &1
T 2l

(d) IIE 3fegor geTd HErR H feem T W@
T 2

T fq wfed U= AR WH & §’]Y H,

frfafeaa wal | foar Sifsa:

1. =8 I s e § Sg-Hied sAfgefadt
% ferd 21

2. = A et 9fg IR gaq faswr w1 fgen
o ufadsr Tgfd 2

S wUA § ¥ HE-T/A T 22
(a) o 1 (b) a2
(c) 1 3R 2 g (d T 1 AT 2

TR &7 & fod garEst & foRe 9'a (PM-

DevINE) a5 & §’d H, fAfafed wodl ™

fomm wifsa:

1. 98 A SW-T4 i ATeIHRae &1 gfd &
ford qen g glaensti @ik wmfses famm
1 gREsERl & foaume ?g 98 &1 T 2

2. T QAR UREg % wem g on) e s
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Consider the following statements:
1. Darlong is a tribal community of Sikkim.
2. There is a high prevalence of educational
and cultural activities in the community, and
members of the community hold senior positions

in local administration.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(¢) 1and2only
Consider the following statements:
1. India's bilateral relations with Nepal began with
the 1950 Treaty of Peace and Friendship.
2. Nepal is one of the four countries where India's
RuPay payment system exists.
3. India and Nepal have signed sister-city
agreements to make Lumbini-Varanasi and
Kathmandu-Ayodhya twin cities.

Which of the above statement(s) is/are correct?
(b) 1 only
(d) 1,2and3

(a) 1and?2only
(¢) 2and 3 only

Which of the following statements are correct

regarding Blue Blob?

(a) Itisapatch of water located in the North Atlantic
Ocean.

(b) It is a cold water patch located in the North
Atlantic Ocean.

(c) It is a cold water patch located in the North
Pacific Ocean.

(d) This is a patch of warm water located in the
South Pacific Ocean.

With reference to PM Gati Shakti - National Master
Plan, consider the following statements:
1. This scheme is for multi-modal connectivity in
economic areas.
2. This scheme is a transformative method towards

economic growth and sustainable development.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) neither 1 nor 2

(a) 1 only

(¢) both 1 and2
With reference to the Prime Minister's Development
Initiative (PM-DevINE) scheme for the North Eastern
Region, consider the following statements:

1. This scheme has been started to meet the needs
of North-East and to finance the projects of
infrastructure and social development.

2. Itwill be implemented through the North Eastern
Council.

| eteE | e e
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IrfE wed § ¥ HE-TA wE 27

(a) &ad 1 (b) A 2

(c) 1 @ 2 g (d) Td 1 SR T2

aresie et g, frefafed § 9 fred gefd 22

(a) 30 " R fora smars, Hifaa wAfefadt
AR gfTE e % Wy Hamed el & e
% ford g& *1 T A R

(b) SAETE URTETOT & HILAH 9 AT ARG i
IS YA H b YT TSR &
F TG Y& B T wAl

(c) 9Ra & Gt dl A g &= & o faww
1 T &1 F@@r <7 & fodl

(d) TrEOT & W S U S S YA % e
o o< Fumee™ S

g Tel gl & Ha |, Frefafead wemt

R foar wifa:

1. SIS = Td SAfehiRar waed g’ S
e T R

2. I% Ui sAfewie wadl U grd SacdHe
shfefea oIk Juaddt & wwel 9 SR w5
T 2

ITdE weA § ¥ HE-E/A T 2?

(a) wo 1 (b) Feet 2

(c) 1 3R 2 <A (d) a1 SRAE2

freafafaa weml W faer Fifsa:

1. A § e SRS ®I qor § afves
a9 gfg *1 HH e e 2

2. HIFA I GOl H Wiplah 9 omTe o
HTE SEAFAES IS Hdl 2

ST FwUA § ¥ HE-T/A T 22

(a) ®adA 1 (b) e 2

(c) 1 3 2 g (d) T 1 SRTE 2

frefafed o 9 fra &9 ¥ geasial &1 3gam foman

ST Hewal 87

1. Se-Seh 2. SE-UH

3. Sa-HIEANE

= <8 T T2 w1 T W g HE SW g
(a) el 1 3R 2 (b) Faa 1

(c) whael 2 3R 3 (d 1,2 33

frefafad & @ siF-ard Tgeee fedieor stam
22

1. TESifey 2. Usiifeaftem

3. TSREERR

F= &I T H2 W@ F g FE SW G
(a) waa 2 (b) = 1

(c) o 2 3R 3 (d 1,2 3R 3
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Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only

(¢) Both1and?2

Vibrate Village Programme is related to which of the

following?

(a) The scheme has been launched for the
development of border villages with sparse
population, limited connectivity and
infrastructure on the northern border.

(b) An initiative to provide skills as well as
livelihood to rural citizens through online
training.

(¢) To promote the pace of development with
infrastructure in all the villages of India.

(d) Financial inclusion in rural areas through
initiatives like Jan Dhan Yojana.

With reference to the Multidimensional Poverty
Index, consider the following statements:
1. Issued by the Ministry of Social Justice and
Empowerment.
2. Thisreport has been prepared in consultation with
the Oxford Poverty and Human Development
Initiative and the UNDP.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(¢) Both 1and?2
Consider the following statements:
1. Methane has a lower potential for global
warming than carbon dioxide.
2. Natural gas emits about half as much carbon

dioxide as coal.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and?2
In which of the following forms can microorganisms
be used?
1. Bio-fertilizer
3. Bio-pesticide

2. Bio-stimulant

Select the correct answer using the code given below:

(a) 1and?2 only (b) 1 only

(¢) 2and 3 only (d) 1,2and 3

Which of the following is/are nitrogen fixing bacteria?
1. Rhizobium
3. Azotobacter

2. Azospirillum

Select the correct answer using the code given below:
(a) 2 only (b) 1 only
(¢) 2and 3 only (d) 1,2and 3
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ey, T W AT -HE N Uel (IPCC) & TeH

¥ freAfafed ol w foaar wifs@:

1. I Saaryg afiedd 9 Hefya foaame &1 eehed
I Gl S wEer €

2. 34 fava dem foam "meT (WMO) @R Hge
T Faq fohrd T Jeas i wenfud fohan

T Al
ST HAl § ¥ wmE-T/A w22
(a) & | (b) Ha 2
(¢) 1 3R 2 g (T 1 ATE2

SErg, Uiedd W SFR-T U (IPCC) §N

S B3l e U w1 i am % ded H,

frefafad weal § 9 se-ar8 98 222

1. 2019 ¥, fave &R W HFe wifa 14 esd Tt
1 IS 1990 T o § 54 i siferan e

2. G %Y faepfaa 29 2019 § A ScqsiH
T e 3.3 Ffaw et i o

3. dfYess TR W, WA B=E 6 &1 sfeq arftiss
gfg & 2000-09 ® 2.1 wfae Ffqed st
2010-19 ® 1.3 wfoer dfaed & T 2|

F= &3 T H2 F TET FW g FE SR G

(a) @oe 1 3R 3 (b) e 1 3R 2
(c) o 3 (d 1,2 3R 3
foreifefan g T feR i

(FeT) (=)
1. < swed : o
2. Hie WEd : S
3. ARFAET o : foer
T T F W IR T 2
(a) wHad 1 (b) e 1 3R 3
(c) wae 2 3N 3 (d 1,2 33

fr=fafas woAl w fa=ar wifsa:
1. TeH i @l ® e ofifemn @ e €1
2. T 3 @eE uifeRsdE ¥ fed 7

ST weA § ¥ wE-T/A W 22
(a) e 1 (b) Fe 2
(c) 1 3 2 g () a1 SRTE 2

TAEERRE o9 & §ed |, frAfafed sl
foam wifsma:

1. 3 el & ufvedt g § 9@ e #)

2. F8f =l gera: nHE § g 2

3. g W WER Fell & fead S S 2

ST weA § ¥ HE-T/A W 22
(a) el 1 3 2 (b) o 2
(c) el 1 3R 3 (d) waa 3
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With reference to the Intergovernmental Panel on
Climate Change (IPCC), consider the following
statements:
1. Ttis the international body to assess the science
related to climate change.
2. It was established by the World Meteorological
Organisation (WMO) and the United Nations
Sustainable Development Solutions Network.

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2
With reference to Part III of the Sixth Assessment
Report released by the Intergovernmental Panel on
Climate Change (IPCC), which of the following
statement(s) is/are correct?

1. In 2019, human-caused greenhouse gas
emissions globally were 54 percent higher than
in 1990.

2. The least developed countries emitted only 3.3
percent of global emissions in 2019.

3. Globally, the average annual growth rate of
greenhouse gases has declined from 2.1 per cent
per annum in 2000-09 to 1.3 per cent per annum
in 2010-19.

Select the correct answer using the code given below:

(a) 1and3 only (b) 1and?2 only

(¢) 3only (d) 1,2and 3
Consider the following pairs:
(Place) (State)
1. Dima Hasao : Assam
2. Malcha Mahal : Agra
3. Cyclopean Wall : Bihar

Which of the above pair(s) is/are correct?
(a) 1 only (b) 1 and 3 only
(¢) 2and 3 only (d) 1,2and3

Consider the following statements:
1. The Gulf of Gabes shares its border with Libya.
2. Mess Aynak mine is located in Pakistan.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both1and?2 (d) Neither 1 nor 2
With reference to the Mediterranean Forest, consider
the following statements:

1. These are found in the western parts of the

continents.
2. Rainfall here mainly occurs in summer.
3. This region is known for its juicy fruits.

Which of the above statement(s) is/are correct?
(a) 1and?2 only (b) 2 only
(¢) 1and3 only (d) 3 only
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88.

89.

90.

91.

92.

With reference to the Wetlands (Protection and
Management) Rules, 2017, consider the following
statements :
1. Its rules do not apply to wetlands falling in the
areas covered by the Indian Forest Act, 1927.
2. Its rules apply only to wetlands notified by the
central government.
3. Under the Ramsar Convention, its rules do not

apply to wetlands of international importance.

Which of the above statement(s) is/are correct?
(a) 1and?2 only (b) 1 only
(¢) 1and3 only (d) 3 only

The Wetlands (Protection and Management) Rules,
2017 does not apply to which of the following?
1. Wetlands falling within the areas covered under
the Wildlife (Protection) Act, 1972.
2. Wetlands falling within the areas covered under
Coastal Regulation Zone Notification, 2011.
3. Paddy fields
4. Wetlands notified by the state government.

Select the correct answer using the code given below.
(b) 2 and 3 only
(d) 1,2,3and 4

(a) 4 only

(¢) 1,2 and 3 only

Which of the following rivers forms the estuary?
1. Mandvi
3. Mahi

5. Narmada

2. Looney
4. Tapti

Select the correct answer using the code given below:
(a) 2,3 and4 only (b) 1,3, 4and 5 only
(¢) 1andS5 only (d) 1,2,3,4and 5
Consider the following statements:

1. In mutual action, one species is benefited but
the other species remains unaffected, then it is
called mutualism.

2. Both the interacting species benefit, it is called

commensalism.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only

(c) Both1and?2

The correct sequence of the process of ecological

succession is-

(a) Nudation - Attack - Establishment - Competition
- Reaction - Stabilisation

(b) Nudation - Establishment - Reaction - Attack -

Competition - Stabilisation

| eteE | e e
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93.

94.

9s.

96.

97.

(c) Establishment—Nudation—Attack —Competition
— Reaction — Stabilisation

(d) Stabilisation - Nudation - Attack - Reaction -
Competition - Establishment

Which of'the following cycles completes the slowest?

(b) Sulphur cycle

(d) Phosphorus cycle

(a) Carbon cycle
(c) Nitrogen cycle
With reference to the ecological pyramid, consider
the following statements:

1. The biomass pyramid is always straight.

2. In detritus ecosystem, the number pyramid is

straight.
3. The energy pyramid is always upright.
4. The number pyramid of the grass ecosystem is

straight.

Which of the above statements are correct?
(b) 2 and 4 only
(d) 1,3 and 4 only

(a) 1and3 only
(¢) 3 and4 only

Which of the following are covered under in-situ
protection?

2. Botanic Garden

4. Protected forest

6. National Park

1. Biosphere reserve
3. Holy garden
5. Zoo

Select the correct answer using the code given below:
(a 1,2,3and6only (b) 2,4 and 5 only
(¢) 1,3,4and 6 only (d) 1,2,3,4,5and 6

On what aspects does the type of extreme community
in a region depend?

(a) On the body of colonists available

(b) On the climate

(c) On soil organisms

(d) On base shell

Which of the following Biosphere Reserves of India
has been included in the World System of Biosphere
Reserves under the programme Man and Biosphere
of UNESCO?

1. Nilgiri Biosphere Reserve
Similipal Biosphere Reserve
Cold desert biosphere reserve
Panna Biosphere Reserve

Kutch Biosphere Reserve

Sk » D

Nokrek Biosphere Reserve

Select the correct answer using the code given below:
(a) 1,3,5and6only (b) 2,4 and5 only
(¢) 1,2,4and6only (d) 1,2,3,4,5and 6
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99.

100.

Which of the following species is included in [UCN's
Endangered (EN) list?

(a)
(b)

Gharial, Pygmy Hog, Nilgiri Tahr, Dugong
Golden Langur, Gharial, Nilgiri Tahr, Great
Indian Bustard

Great Indian Bustard, Nilgiri Tahr, Golden
Langur, Pygmy Hog

Nilgiri Tahr, Golden Langur, Pygmy Hog,

(©)

(d)
Ganga-Dolphin
Which of the following states/UTs do not have Tiger
Reserves?
1. Jammu and Kashmir 2. Sikkim
4. Bihar
6. Mizoram

3. Manipur
5. Himachal Pradesh

Select the correct answer using the code given below:
(a) 1,2,3 and 5 only (b) 3,4 and 6 only

(¢) 1,2,4and S only (d) 1,2,3,4,5and 6
With reference to the India State of Forest Report,
2021, consider the following statements :

1. Odisha, Madhya Pradesh and Chhattisgarh have

the highest incidents of forest fire.

2. There has been an increase in the forest cover

in the northeastern region.

3. The total forest cover and tree cover in the
country is 24.62 percent of the total geographical
area.

Which of the above statement(s) is/are correct?
1 only (b) 1 and 3 only
2 and 3 only (d) 1,2 and 3

(2)
(©
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